/

B 5 Rl KB A - B A ER (g WAE) § R

1. 336 i 22 o J&(blood pressure) 2A &« 3¢ th (cardiac output) % B -F(factors) 431 iff S 3b, 2 2 X, %k
Fo (10%)
2. BB ALEH#H o (10%)
.HFIBERNBARANABNG LK EMESXAA LR  (10%)
4. #f ik &8 M 2 A% (lung volumes) , 3 35 th AF — £ 1< 48 YA — A A5 & 31 (spirometer) R4% o (5%)
5. AELd 1 (15%).
a. = 2. (compliance)
b. Gibbs-Donnan -} #;(Gibbs-Donnan equilibrium)
c. & §) 4445 (motor end-plate)
d. ey Starling 2 48 (Starling's law of the heart)
e 4 AP (physiological dead space)
6. X H—ELEMiBNEARBELRRL L LR T LR AHRLNE R (%)
7. KHit Homestasis ¢34 » 3t 7| 858 )y & #R 3b Physiological parameters & & 4 #4152 4% {8 »
TRERERE (ZY7ha) (%)
8. (a) 473§ endocrine, autocrine g, paracrine system ?
(b) ffjilt Hypothalamus-pituitary-thyroid gland axis ( —ig—) (5%)
9. (a) A B-RE &4 » M1 invivo & in vitro R Se&— 48 o
) AR 2k RS K] » Bl invivo & invitro ek & —4f o (=8—) C%)
| 10.(2) X B BZ RN > EFRIHBGEE/ER o
O©) B RBATR LR ESHAFEGEEER o (=8—) 5%)

1. % ek pH=74  PaO,=80-100mmHg PaCO,= 40mmHg [HCO37]=25mM (5%)
B.4» Handerson Hasselbach equation 4 pH=pKa+ log [HCO37]
[CO2]
A — 49k AL W f metabolic acidosis , 3 & & — 25T f8.7 sbyk Aof S 2] 60 B ©
(8p pH=? PaCO,=? [HCO3]=? PaO,=?) o
12. 4B ABk ¥ 2 glucose =0 , A —H AT R glucose, 3] — BB B > £ 300
BRAIEF SO TRERE o (5%) :
3.0 THABRRFTETRUA—HRERABERE (%)
(@) A 2R
(OR=):E:F 5
14. (a) fff it 2 48 O RSB 484 o
(b) vhd i m s bl e F % 3 & 4 (Central air conditioning) % 4afngs o (=i&—) (5%)
15, ik — B G sl ah £ 02 (RAHE) Ly MM » $33 — @R TR PRI LeE
Blo (Rademddy) (10%)




